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Last time
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I
It simply connected -> any f: u - & holomorphic,

nowhere zero ,
admits a holomorphic square root g : u+

f =

g ?
( *)

/I

"Root domain

UK is a root domain if ( *) is satisfied.

simply connected -> root domain

Riemann Mapping Theorem

2 + & root domain => I is biholomorphic to 1.

Today- execute the strategy outhned last time.









Indeed
, by Weiershap convergence , f is holomorphic.

and InIf locally uniformly. In particular,

fu'(a) -> f'(d) so If 'la)l = M.

Since fula = o a fu of at a , we have

f(a) = 0
.

Claims f : n - A & f injective.

Indeed
, In injective & fu f showsf is either

Injective orf constant by Hurwife's theorem

1 Math 220A
,
Lecture 19).

If f = constant = f'(a) = 0 = m = 0 =

=> g(a) =ofgeE since M is the
supremum

.

But if ge F, g Injective and gla) to

->






















